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	Q1
	Answer the following questions

	(a)  What is the difference (with example) between “Trigger and Constraints” in PL/SQL?
Ans:                      

Trigger
Constraints 
1.

2.


	2

	(b) Write a function in PL/SQL  to find sum of the following series:

1 + 1/2! + 1/3! + 1/4! + . . . n terms. Hint: Here ‘!’ stands for factorial, before solving above question create a factorial function.
Ans: 


	2,2

	(c) Differentiate between COMMIT, ROLLBACK and SAVEPOINT command (with example) of SQL.
COMMIT

ROLLBACK 

SAVEPOINT

1.

2.


	2

	(e) Create a PL/SQL Trigger “valid” to the EMPLOYEE table and will stop you from entering people whose name has the word “ SINGH”.
	2

	Q2
	Answer the following questions

	
	(a)Write the output that the following code segment will generate 

Table: Department 

DeptNo

DName

Loc

1

Sales

New Delhi

2

Marketing

Mumbai

3

Manufacturing

Noida

4

R & D

Bangalore

Look at the above Dept table and give the output produced by the following PL/SQL code on execution:

DECLARE

v_DeptID Department.DeptNo%TYPE :=2;

v_Department Department.DName%Type;

v_Counter NUMBER (1) := 1;

BEGIN

LOOP

SELECT DName INTO v_Department FROM Department WHERE DeptNo = v_DeptID ;

IF V_Department <>3 THEN

DBMS_OUTPUT.PUT_LINE (v_Department);

END IF;

v_DeptID :=  v_DeptID + 1;

v_Counter : =  v_Counter + 1;

EXIT WHEN v_Counter >=3;

END LOOP;

END;
Output: 


	2

	
	(b) Find the output of the command given below:
i. SELECT NEXT_DAY(’01-JUN-2006’,’FRIDAY’) FROM DUAL;

ii. SELECT ROUND(1023.432,0) FROM DUAL;
Ans. 

 i.
ii.


	2

	
	(c) Explain the usage of the %TYPE and %ROW TYPE attribute in variable declaration in a PL/SQL 
block with the help of an example
%TYPE

%ROW TYPE

ANS.
Example

ANS.

Example

	2

	
	(d) Write a PL/SQL Stored Procedure that takes “maxrows” and “maxcols” as argument to generate a multiplication table, using <<labelled>> nested simple loop.

The output will be like this: 

0  2    3   4    5

2  0    6   8   10

3  6    0   12 15

4  8   12  0   20 

              5  10 15  20 0
Ans.

	3

	
	Use the following structure of Customer table to answer the following questions:

Column Name

Cust_ID

(Primary Key)

Cust_Name

(Not Null )
Cust_Add1

Check  IN(CHURU, JAIPUR, DELHI, INDORE)
Cust_Add2
Cust_Phone_

Service_Provider

(Default: 011-234343)
Cust_Phone

Data Type

NUMBER
VARCHAR2
VARCHAR2
VARCHAR2
VARCHAR2

VARCHAR2
Length

7

30

20

30

10

10


	

	
	 (a)  Write a PL/SQL code to modify the CUST_PHONE numbers by joining ‘2’ if Cust_Phone_Service_Provider is BSNL, ‘3’ if Cust_Phone_Service_Provider is RELIANCE, ‘4’ if Cust_Phone_Service_Provider is AIRTEL, ‘5’ if Cust_Phone_Service_Provider is TATA and nothing as default.       

	2

	
	(b) Write a PL/SQL code to modify all the CUST_PHONE numbers by removing ‘2’ if it starts with ‘2’.        
          
	2

	
	(c) Write PL/SQL code to create two Statement level Triggers TrigBefUpdCust  and  TrigAftUpdCust before and after UPDATE statement respectively on the table Customer which signals ‘Starting Update’ to signify that modification of records has started and ‘End of Update’ message to signify that modification is over.             
                                                  
	

	
	 (d) Write a SQL code to create a table Customer and apply associated constraints                                    

	

	
	(e) What do you reference integrity constraint? Explain foreign key constraint.
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